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QUESTION 1

Which of the following plans would MOST likely contain a probability and impact matrix? 

A. Communication 

B. Resource 

C. Risk 

D. Project 

Correct Answer: C 

 

QUESTION 2

While in an operations meeting, the project manager hears that a new enhancement is being released that will impact
the agreed upon scope. Which of the following should the project manager do NEXT? 

A. Identify the issue, perform an analysis, and create a change request 

B. Log the change and communicate it to the project team 

C. Inform the sponsor while allowing the change to continue 

D. Stop the development, communicating that changes have to be approved 

Correct Answer: A 

 

QUESTION 3

Which of the following is typically the LAST step when acquiring a product or service from a vendor? 

A. Vendor selection 

B. Evaluate seller response 

C. Contract development 

D. Contract signing 

Correct Answer: D 

 

QUESTION 4

Given the schedule estimates of Best Case = 2 days, Worst Case = 12 days, and Most Likely = 4 days, calculate
PERT. 

A. 4 days 
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B. 5 days 

C. 6 days 

D. 8 days 

Correct Answer: B 

 

QUESTION 5

A statement of work (SOW) has been heavily revised by the stakeholders. Which of the following should be
implemented to make it easier to determine how many times the document has been revised? 

A. Version control 

B. A document revision date 

C. Approval signatures from each stakeholder 

D. A change request 

Correct Answer: A 
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